Year 12 Extension 1 Mathema ﬁ'cs

. Calculus with Trigonomeiry, Inverse Functions Question 2 (15 marks) Start a new booklet . Marked by DWH
Term 2, 2010 | Week 5 Tue, 18 May . Time Allowed: 50 mins  Marks: 45 -

Evaluate sin™ [——2\/—5—] , leaving your answer in exact form, 2

a)
Evaluate sin™ (ZSin %) 2

Using an appropriate compound-angle formula, evaluate

Show all wotking to gain maximum marks

Matks will be dedircted-for pootly presented ot illegible work

Question 1 (15 marks) Start a new boollet ) Marked by HRK _ 3 4
' _ cos| sin™ (—) +tan™ (~—) 3
a) Prove using 7 results, where 7 = tang this result:
050 —sin 041 1 ’ d) Consider y=2sin""x i .
osBrsinb-1 = COtEG 2 (i) State the domain and range of this function. 2
. - ' . if) Sketch the curve. : 3
b) Find the general solution of sinx+ VBeosx =1 3 (@)
. -
d 1 ' e) Evaluate the domain and range of the function y =2sin™ 10
c) Find — | —— 2 . 5
</sin® 4x
. v 2 ‘E_ 2 '
d) Find dx (cpt [2 ZxJJ : Question 3 (15 marks) ‘Start a new booldet Marked by RPN
B -e)  Find the exact value of cos % i 2 a) Di‘_ffercntiate the following functions with respect to x:
' : o 7 (x) =cos™ 2x
2 . ’ s =tan & . 2
f) Evaluate J.\/4—vx1dx , using the «ibstitution x = 2sinf. 4 @) /(x)=tan (e )
’ : ’ 1
It '
b) Evaluate , leaving your answer in exact form. 3
) 0y 1- 4x2 .
c) Consider the tangent to the curve y=x’tan™ x whére x=1.
’ d
i) Find—(x’tan™ x 2
@ - )
(i) Find the gradient of the tangent where x =1. 1
(iti) Find the y-intercept of this tangent. 2
o Fnd [EHla ’ 3
x“41

(First express the integral with two separate fractions.)




{
P
{
N
o

\
&

RRS

e e e

. D g lesml+ (Lo el

- @o3C = R oo+l = R ganc>
I%""Lﬁ e
ERUATIMG CcOETE

(1

CLENTS oF ArxX Ces

. - A down & =
.ol =g _

2 R=9%+tL =L
WOL:‘Y-;E/ -'-"4"'%

-

z {
HEM g X+ B anat = | / :

—

8

(on wra cog it on LB )

GeM Seot-vTion n
— : o
(4 5)= THED
NoTE AT SR s TO
——

' - _ T
%()[Z_,TRV\C\ TeE 3

(C> @ \ Tme | tme Time A _
3/ ;H—"T .. a1e fRecioos -

U e ity o el
(e T | pse nmer LAse
-5 : o

% (—: ’%&(muﬂ) Zé?ﬂoéwc % ‘zq; Ptgggf_t—?sg MW sy |

= —b®Lx

—

o b g
@;ﬂma‘?()% ‘ m(;

(ob) o gf *(L-22
@) %{?@ny( >

Decall V@65 = (o>

CoRATIOD

= _O(// W—LZ?C / el W/@Z&
b . '

e @w'zﬂz
il

1 s
Q/(@alﬂ) e ar2n X

—

&) X = &7 )-—&”’g@ur & /
N e b oL V3L
@ (o o TR _oEw
r -
! R - R e £
EX S
p) 2 =0 Ozzgm—— .
m—z_ﬁ(m/ o=o . X = za2m b
o \/75:2 —glef/w" olot




<Y,

S \\V\\\ (_E-> =
2

- !.Zj“ (V\,Ol-q— rn»«g& D'IQ _?lv\ -@m. Vs A%']VIQ(-&JI

+o(;r<g“. () Sg) ovd stookents
) est _L Tnae Gr mgusn (n e
Tetoneef d,a,,.__q;—,;;> '

b A w Y o y & - -
(') S (ZS ‘>.. Srk((zfé): Em-(c‘) = ’,77; (Ch'::*,f)l-@ .
o~ ) ‘%K a'rw
©)  eos (s"(E) 4 ;ea:‘@')) ek x5 (£)
= cos(ﬂ“fﬁ) :[7 f
g
= COSdCdsﬂ - S‘:""Lg‘;‘ﬁ
\(i?-z—‘.:ﬁ—
= ez £ 44
FrET Ty Aok f = £ (F)
= Ey-3a (3 S
25 iy *
2
Y u= 2o
[
7 A et
(') J—&M:L -—\éJCS‘ (e} %Llw N
Fengst i ~WE 9T ¢ emuy
L et ) P —
(e;;:u s SR )
qun . =g
) 8 -TEys T s ¢ <
" A
) ;J b & yteg 4
< atg<t | ek
(wa
comreet
1}
—F——T; T -
g
. —rLrd-2  (ne
hck
\ ]

éﬁic ared Ve éu‘r) ey ',)

O. (&

@.

€ w 3=W b g W’("W(,m

)MWZI7%;2:L[:+

Gu«) U.a \J, = M(’ﬁ-—'ﬂ N ow*f’(
y-5= (w0
ok =0, \dci(ﬂ’—kl ¥ =T

@) f

JUs Py g

//&Mé 7[(;1) ’9’

.Ji/td% 2 ‘,;%__’2_4. 2

&Lﬂj-

®) %(”):3:%/32 b i

- s éx) Qﬂ

|L;10L,(

'M-I’\

X+t
P

foue f/n)=‘ 2l

& = zlw=)

Yo B

tseper et

- - _ L

N

-kfﬂmﬂéx ,’Aq/nw +LLM(7€)+C [’J




